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15 4 987 ( 17) HE# 3y ( FREF 2) BhEHE 927 HP
16 4 991 ( 10) &K * (&3 2) INREEHSTHHR 712 &%
17 4 998 ( 17) HLE {-H# ( B4R 2) BihEHE 927 #WE
18 4 1007 ( 10) M = ( KYBH 2) INBEEHISTHHR 712 &
19 4 1094 ( 17) FHK =B ( fghTC 2) BINgEE 927 W

[ZF2% 100m]

JERL X 5 iz AAH KE £ B X = HE S
1 4 1703 ( 17) ZE #A=E (KYB® 2) BEnEFE 81 HP
2 4 1756 ( 17) #lU F4 (KYBH 2) BmmEFHE 81 #WE
3 4 1852 ( 1.7) Nk Bk ( fETC 2) BEmmEFHE 81 #HE
4 4 1872 ( 17) HEF =# ( KYEBER 2) BEmmEFHE 81 #HE
5 4 1913 ( 1.7) # =T ( KYEER 2) EmmEFE 81 #WE

[ZF3% 100m]

4z X5 ik AN E £ B N - HH RS
1 4 1598 ( 19) aE [BM (KYEH 3) BEmmExiE 81 Wz
2 4 1599 ( 16) Ir&p iEE ( =ZEAC 3) BpE 927 HE
3 4 1620 ( 13) Hf T (Ardtss 3) B/h4E 927 WM
4 4 1623 ( 00) g #A ( KYSH 3) BEmmEFE 81 P
5 4 1635 ( 1.9) EX OB ( R 3) BEmmEFE 81
6 4 1636 ( 20) %A BFE (TFXF 3) INBEHSSTRHR 712 &7
7 4 1638 ( 04) f{H#E UMY ( ZHTF 3) INBEHSTHR 712 &M
8 4 1643 ( 06) EA <3# ( TFRF 3) BEEMREFHE 82 XF
9 4 1650 ( 19) X% ¥(E (mBTC 3) EBEmmEFE 81 #H#E
10 4 1654 ( 1.1) FTF HF4% (@=1:' D 3) INBEHSTHHR 712 &%
11 4 1672 ( 13) B i ( KYEBER 3) BhE4E 927 #HP
12 4 1675 ( 1.3) #EL %8B ( BER aA+R 3) BhE4E 927 WP
13 4 1679 ( -04) m[E BF (TFES 3) BEWM-RAIMEFE 82 =
14 4 1699 ( 04) AR AE (Ardess 3) INBEHSTHHR 712 &
15 4 1704 ( 16) XK EhH ( FREFIN 3) BihE4g 927 HP
16 4 1707 ( 06) Bl YAF ( RLupEL 3) MEEHMREFE 82 XF
17 4 1708 ( -20) X0E FiEE ( KFEI© 3) AET-HMEEFE 82 =
18 4 1721 ( -04) —#f BAHF] ( TR 3) BEWM-RMAIMEFE 82 &
19 4 1727 ( 13) #EHA #BXK ( ZHTF 3) INBEHSTHHR 712 &M
no4 1727 ( -03) #H# &F (de&h 3) AEm-EEEEFE 82 BTG



[ZF45% 100m]

JEfL X5 ik EAb E % B X £ HH FREiS
1 4 1534 ( 10) @l =8 (HmBTC 4) INFEESSTHR 712 &H
2 4 1537 ( 10) IR & ( BWPaA+R 4) INBEEHSSTRH 712 &7
3 4 1570 ( -02) =M ¥9F (TFES 4) ASH-HABMERFE 82 =
4 4 1576 ( 18) ®iA 3% (KYBH 4) INBEHSSTRR 712 &
5 4 1603 ( 1.7) MEAEX EMW (TFES 4) INREEHSTTxHR 712 &%
6 4 1621 ( -02) Wk FiF (TFES 4) AEm-HEBEFE 82 =
7 4 1623 ( 10) £A F/FE ( BEf@ 4) BINEE 927 #HB
8 4 1647 ( 06) Gk 2% ( ETC 4) BEBIMEFE 81 #WE
9 4 1657 ( 18) 1&H %bH (Ardess 4) INBEEHSSTHHR 712 &
10 4 1658 ( 14) Uk B ( KFELISD 4) WEEHRETFE 82 XF
11 4 1665 ( 04) =M X£E ( =B/ 4) BEM-RAEMEFE 82 =
12 4 1668 ( -02) & KBE ( A 4) AEM-RAEMEFIE 82 =
13 4 1672 ( 04) KT 48 ( B4R 4) AEM-RAEEFIE 82 =
14 4 1683 ( 1.0) #51L BEZE ( RKilpE L 4) BINEE 927 WP
15 4 1689 ( 05) g E= ( FREFN 4) RAEM-REIMEFE 82 =
16 4 1692 ( 05) HHA %K= (P& 4) AEM-RAEMEFE 82 =
no4 1692 ( 04) HA =N (HEN 4) EEH-EEIEFE 82 =
18 4 1695 ( 06) &XE DHE ( SMTC Jr. 4) TEERHXIEFIE 82 ¥F
19 4 1700 ( 16) FHE HWE ( SMTC Jr. 4) INBEEHSTHHR 712 &
20 4 1710 ( 1.0) FEMA % (fmBTC 4) BINEE 927 WP
F 4 169 ( 06) &H EBN ( SMTC Jr. 4) EATEFE 95 E~I
[%F54% 100m]

JEf X5 ik AAD E 4 B X = HE HEiS
1 4 1418 ( 07) EII KA (€T 5) BEm-REEEFE 82 £
2 4 1475 ( 03) Wt = (KYBH 5) BImEFE 81 #WE
3 4 1482 ( 05) 3t ®ETE ( KFELYST 5 ) FEHEMMREFIE 82 XF
4 4 1501 ( 07) k@A #HY ( B/ 5) REM-REAMEFE 82 =
5 4 1504 ( 17) B BF (KYBH 5) BImEFE 81 #H#E
6 4 1507 ( 1.7) EAX #H ( mBTC 5) BEImBEFE 81 #HE
7 4 1522 ( 03) [ME FYA ( KYSH 5 ) INBEEHSTxR 712 &%
8 4 1530 ( -02) EH BF¥ ( fBTC 5) BIiEFE 81 #HE
9 4 1531 ( 17) AR F% ( KYBH 5) BEImEFE 81 #WE
10 4 1532 ( 1.7) W AUVS (fmBTC 5) BEImEFE 81 %%
11 4 1535 ( 11) hE ZEF (TFES 5) INBEESSTRR 712 &
12 4 1539 ( 1.7) #BfA Z&H (fBTC 5) BEImREFE 81 #HE
13 4 1542 ( 13) BH #& (KkFELIST 5) INBEEHSTHR 712 &
14 4 1547 ( 01) MNZER &7 ®2HUN 5) AEW-HEEEFE 82 =
15 4 1556 ( 15) M FTE ( ETC 5 ) INEEHSTHHR 712 &
16 4 1571 ( 15) EK Fin ( SMTC Jr. 5 ) INEESSTHHR 712 &M
17 4 1578 ( 05) BE &4 ( SMTC Jr. 5) WHEHMXEFE 82 XF
18 4 1600 ( 0.1) #k@A &EFE ( B/ 5) AEM-REAMEFE 82 =
19 4 1605 ( 15) IR HRE ( FRU—FKF 5) INBEEHSTHR 712 &
no 4 1605 ( 07) @& LB (Adess 5 ) EEm-REEEFE 8.2 E=
[ZzF6% 100m]

JEfsz X5 ik AN KE £ B N - HE BES
14 1341 ( 13) #ME BA (kFELETS D 6 ) E/INFAE 927 #Z
2 4 1385 ( 19) wHE #85 ( TFXF 6 ) B/INEHE 927 WP
3 4 1399 ( 19) D D& ( SMTC Jr. 6 ) /INFEEHSTxH 712 &%
4 4 1400 ( 19) fEHE &HFDN (iadess 6 ) /MNEEHTTHR 712 &%
5 4 1434 ( 07) WWH EE (idess 6 ) IMREEHSTHHR 712 &%
6 4 1443 ( 04) &5 BT (P& 6 ) AEM-HBEEFE 82 =
7 4 1450 ( 13) HE E (TFES 6 ) B/IhEHE 927 HP
8 4 1459 ( 19) T# EN3  (TFKF 6 ) IMNPEHSSTHHR 712 &
9 4 1470 ( 19) EX KT  (@dess 6 ) B/hFEE 927 WM
10 4 1484 ( 04) =FIU = (idess 6 ) IMNEEHTTx 712 &%
11 4 1489 ( 07) HER K& [@=-:lN 6 ) EEH-EEIEFE 82 =
12 4 1504 ( -10) [EB #FF ( SMTC Jr. 6 ) MWEEHMREFIE 82 XKF
13 4 1509 ( 13) A #IP ( 6 ) B/INEHE 927 T
14 4 1510 ( 12) FT Mk (TFKF 6 ) FEHEMhXEFIE 82 XF
15 4 15.16 ( -15) &K KB ( =§AC 6 ) HELERHZERO 95 =
16 4 1518 ( 13) HE #&&F (KH%937 6 ) B/hEHE 927 #HH
17 4 1524 ( 05) M@K E @it UN 6 ) EBEH-EEIEFE 82 =
18 4 1525 ( 05) R #F ( SMTC Jr. 6 ) WEEMREFHE 82 XF
19 4 1527 ( 07) JAX Ef (FEN 6 ) BAEM-REAMEFE 82 =
20 4 1531 ( 05) FRUE B (@it UN 6 ) AEM-RAMEFE 82 =



[#F 800m]

B X4 ERER E % B X = HE HBEiS
1 2.37.53 F Efx (rdess 6 ) E/PNFEE 9.27 E2]
2 2.38.28 =EH BF ( BTC 5 ) REMRES 118 %%
3 2.39.92 g FAR ( TFRF 6 ) RIEMEHES 118 %%
4 2.40.98 BEA BB ( fBTC 5 ) REMEHRS 1017 ##
5 2.41.26 B TiH ( fBTC 5) hiftEREEQ 95 AT
5 24210 Wi #uv5 ( fBTC 5) HhETEREEQ 95 AT
7 2.42.21 ng 2% ( KYBH 5 ) INEEHSTHHR 712 &F0
8 2.42.64 =i 39E (TFES 4 ) RIEMRER 118 #w#E
9 24291 Wi &k (TFES 6 ) HEpEERHESQ 95 AT
10 24293 BE Mt (P& 6 ) AEM-RAMEFE 82 BTG
11 2.43.22 BemE A ( BHIN 5 ) BINEHE 927 P
12 24407 HE BT ( REN 5) BEM-RRAEEFE 82 BT
13 2.44.80 it T ( BTC 5 ) REMEHEs 1017 #H#&
14 2.48.40 e &4 (KYBH 6 ) B/hE4E 927 WP
15 2.49.09 Il Ei (fmBTC 4 ) REMRHES 1017 #H%
16 2.49.21 NG ALY ( ZHTF 6 ) MNEEHTTxR 712 &%
17 24957 AR FiE (KYBH 6 ) FTA5—RIEHTHZESE 1010 P
18 2.49.65 k2K HE  (TFXF 6 ) B/hAg 927 #HEP
19 2.50.09 AR B ( BB/ 6 ) REM-REMEFIE 82 EE
20 251.74 PAf Bk (deg 5) ASH-REBEFE 82 BS

[%F 1000m]

BRI X Eo8k KE % B X = HH S
1 4 3.35.37 hE =5 (TFES 5 ) RiEfGEH= 118 %z
2 4 3.50.12 BiER £B (TFEH 5 ) OREMHEHRE 1123 AR
3 4 4.10.21 T ¥E (k%5v=v549357 3 ) O©FEBEHIES 1128 #H#E

[ % F80mH(70cm_7.0m)]

JEf X5 iix EAH K £ B X = HE FEiS
1 4 1389 ( -03) BA HEIR (fRETC 5 ) hftERRS 95 BT
2 4 1407 ( 05) #Bf F&h (fBTC 5) BINEE 927 #HET
3 4 1422 ( -03) @ EK (fBTC 4 ) SHEHIERFERO 95 AT
4 4 1517 ( -0.3) Al 1t ( fBTC 5) hiftERESQ 95 AT
5 4 1531 ( -03) =EH ¥ ( BTC 5) mhiEftERHEEQ 95 AT
6 4 1625 ( -03) IWR #UA ( fBTC 5) hiEfTEREEQ 95 AT
7 4 1636 ( -03) ®ME BE¥ (fBTC 4 ) whEpTERESQ 95 AT
8 4 1804 ( 05) XA HET ( =Z5AC 5) BINEE 927 #HP
9 4 1854 ( -03) ®EMA WFE ( fBTC 4 ) thEfERERESQ 95 AT

[ZFESB]

JEfsE X5 ECE% E £ B X = A RS
1 4 1.25 e &KX (TFES 6 ) NFEEFSTxn 712 &M
2 4 1.20 =B & (jArdess 6 ) INEEHSTHHR 712 &M
no4 1.20 HT Bk (TF®kF 6 ) IMNPEISTHHR 712 &
no4 1.20 EE EB ( SMTC Jr. 6 ) B4 927 HP
5 4 1.15 7R FRE  (Adtss 6 ) INEEHSTHR 712 &
noo4 1.15 A B ( fBTC 5 ) INEEHSSTR 712 &%
no4 1.15 B T&h (fmBTC 5) B/hEAE 927 WP
8 4 1.10 &0 BX (adess 6 ) INEEHISTRR 712 &
noo4 1.10 i IR¥: (iadess 5) AEM-RAMEFE 82 BTG
no4 1.10 EH D (adess 6) BAEM-HEEMEFE 82 AH
no 4 1.10 wa Mg ( =B/ 6 ) BhEAE 927 #HE
12 4 1.05 iR A5 ( BTC 5) INEEHISTHR 712 &%
no4 1.05 #E DR (TFYS 6 ) INEEHSTHHR 712 &M
no4 1.05 [ & (L& 5) AEM-RAMEFE 82 BTG
no 4 1.05 WA =& (e 5) AEm-HEEMEFE 82 AE
"4 1.05 XH BT ( ZEAC 5 ) BINEHE 927 #wEP
noo4 1.05 mER 57 ( FREEF/N 5) BihEHE 927 #HE
18 4 1.00 e RE (P& 6) REM-REMEFIE 82 AFH



(ZFENER]

JEfL X5 ik AN K £ B X £ HH FREiS
1 4 402 ( 16) FZ (dess 6 ) BE/PNFEE 9.27 =
2 4 400 ( -02) HIu HE ( KFEI 6 ) REM-REAMEFE 82 =
3 4 374 ( 18) I K= ( KYEH 5) INBEEHISTHR 712 &M
no4 374 ( -03) HERE EF (TFES 5) AEM-REAMEFE 82 =
5 4 372 ( 16) mFf (2= ( BAfR/ 6 ) B/IhFEE 927 HP
6 4 370 ( 00) #%mE oKL (FHED 6 ) BEEm-EEEEFE 8.2 =
noo4 370 ( 02) fR# HTE ( fBTC 5 ) BNAg 927 #HB
8 4 364 ( 09) Hh +£H74 ( KYBH 6 ) INPEHSTHR 712 &
9 4 359 ( 05) =fE #5 ( SMTC Jr. 5) BEMEFE 95 W/~
10 4 353 ( 14) &g #E ( =§AC 6 ) INEEYSTRHR 712 &
no 4 353 ( 16) EBRA F=E ( SMTC Jr. 6 ) FEETEFE 95 T~
12 4 346 ( 00) %YW EKk ( FEEIN 6 ) EEM-EEIEFE 82 =
13 4 342 ( 00) JEA B ( fBTC 5) HhETEREEQ 95 =
14 4 340 ( 20) E=H BT ( ETC 5) INEEHSTHR 712 &M
15 4 331 ( -0.1) w®iNl KA (L& 6 ) AEM-RAIMEFE 82 =
noo4 328 ( 00) =A FHRE  (Adkss 6 ) ™HhEpTEREEQ 9.5 =
17 4 322 ( 13) & FYA ( KYSH 5) INREHSTHHR 712 &%
18 4 317 ( 07) IR MHmRE (FRU—bLXF 5) WEEMREFHE 82 XF
19 4 313 ( -02) EFEN EE ( dbgeh 6 ) BREM-REAMEFE 82 &
20 4 311 ( 01) JIBE &RE ( KiupEt 5) BEEMREFE 82 XF
[ZF Aok -]

JERL X 5 0% KE % B X = HH S
1 4 36.51 EEES (KYE 5) BE/PNFEE 927 #HP
2 4 32.20 BA BB ( mBTC 5) INBESSTRR 712 &
3 4 30.95 hft {23 ( BRfm/ 6 ) B/hEHE 927 #HH
4 4 30.56 a0 FiF ( E#/ 5) AEM-HBEEFE 82 =
5 4 29.01 Al B (K%H5T 6 ) B/IhEHE 927 P
6 4 28.07 hE EF (TFES 5 ) BINEE 927 #HE
7 4 2753 B8 TLh ( BTC 5) BEEMREFHE 82 XKF
8 4 26.04 I[P ;Jf* (P& 6 ) BEM-REAMEFE 82 i
9 4 25.83 xith & (@ 3= 2N 5 ) FEEMREFE 82 XF
10 4 24.63 i#] Bﬁ; (L& 5) AEM-REAMEFE 82 =
11 4 24.40 AT EBX ( =ZEAAC 5 ) INBEEHSTxH 712 &%
12 4 24.24 e RE (REN 6 ) AEM-HBEEFHE 82 =
13 4 23.33 BH (;dess 6 ) BEM-REAMEFE 82 &
14 4 2244 WA ®E (adess 6 ) INPEISTHHR 712 &M
15 4 22.08 FIER EYA (KYBH 5 ) BINEHE 927 HE
16 4 21.90 50 BX (Ardtss 6 ) INEEHSSTXH 712 &
17 4 20.10 tEhH B ( SMTC Jr. 4 ) BHEMRFE 95 B|HIU
18 4 18.89 Ng & ( RuupE L 5) BINEE 927 #HE
19 4 17.87 BH 55 (dess 4 ) RBEM-REAMEFE 82 &
20 4 17.78 EE PiE ( SMTC Jr. 4 ) FEEMREFHE 82 XF
[%F a2 /N1 FA(80mH(70cm_7.0m)- E = BE) ]

JERL X 5 ACE% ( B ) = HH 35
1 4 1798 e T&D (HETC 5 ) BE/NZEE 927 #ma

14.07(+0.5)[937]-1.15[861]
2 4 1004 XH BT ( =Z8AAC 5 ) BINEE 927 #WZ
18.04(+0.5)[258]-1.05[746]
[LZFa2 /A URBGEREE: Sv v oiR—)L#% ($5140g)) ]
JEAL X 5 it K4 ( 3l = HH RS
1 4 1504 hff Z% ( BAfm/ 6) B/INEFEE 927 Wz
3.72(+1.6)[815]-30.95[689]

2 4 1372 hRE EF (TFEE 5) BINE4E 927 #HP
3.46(0.0)[7421-28.07[630]

3 4 854 RHA b ( =ZEHAC 6) B/hPE 927 WP

2.69(+0.7)[526]-13.18[328]



